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PAPER-II
PHYSICAL EDUCATION
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Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of fifty multiple-choice type of
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will
not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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PHYSICAL EDUCATION
Paper — 11

marks. Attempt all the questions.

India participated in Olympic Games
for the first time in

(A) 1896 (B) 1900

(C) 1904 (D) 1924

Bones in human body are classified
on the basis of

(A) Structure and Functions

(B) Location and Attachment

(C) Size and Shape

(D) Joint and Movement

Find the correct answer :

(A) Friction is a negative force for
performance.

(B) Friction is a positive force for
performance.

(C) Friction is negative as well as
positive force for performance.

(D) Friction does not have any
influence on performance.

Theory of insight learning was

propounded by
(A) Thorndike
(B) Pavlov
(C) Kohler

(D) Cattell

First Teachers’ Training College in
India was started at
(A) Lucknow
(C) Chennai

(B) Kandivali
(D) Amravati

Aim of sports training is

(A) improvement  of
fitness.

(B) improvement of technical skills.

physical

(C) improvement of  tactical
efficiency.

(D) improvement of sports
performance.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

One of the important research tool is
(A) Questionnaire

(B) Library technique

(C) Hypothesizing

(D) Survey

Test, Measurement and Evaluation

are related with one another in the

following way :

(A) Measurement and Evaluation
are parts of test.

(B) Evaluation and Test are parts of
measurement.

(C) Test and Measurement are parts
of evaluation.

(D) Evaluation is a part of both Test
and Measurement.

Basic function of Association of

India Universities (AIU) is

(A) Purchase of equipment for
Universities

(B) Planning of the Inter-
University Competitions.

(C) Providing finance to develop
sports facilities

(D) Appointment of  Physical
Education Directors for
Universities

Sociological foundation of physical
education discusses

L. Body type

II.  Motor learning

III. Competition and Co-operation
IV. Socialization process

Find the correct combination.

(A) TandIV (B) Mand IV
(C) TandIII (D) Iland IV

The digested food material in small
intestine is absorbed in

L. Duodenum II.  Vilus

III. Tlium IV. Villi

Find the correct combination :

(A) TandIlI (B) IIand IV
(C) IVandIll (D) MandI
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12.

13.

14.

15.

16.

17.

Angular velocity depends on :

L. Radius of rotation directly.
II.  Radius of rotation inversely.
III. Linear velocity directly.

IV. Linear velocity indirectly.
Find the correct combination :

(A) TandIII (B) HIandII
(C) MandIV (D) IVandI

Motivation consists of

I. Direction

II. Intensity

III. Persistence

IV. All of above

Find the correct combination.

(A) TandII (B) ITandIII
(C) TIandIII D) 1V
Micronutrients include :

L. Carbohydrate II.  Minerals
III. Vitamins IV. Fat

Find the correct combination.
(A) TandII (B) I andIII
(C©) IandIV (D) IVandI

Interval training load depends on

L. Load volume

II. Heart rate

III. Load intensity

IV. Lactic acid concentration
Find the correct combination.

(A) TandII (B) TandIlI
(C) MandII (D) Mand IV

Research problem involves the
following characteristics :

L. Novelty

II.  Valuability

III. Feasibility

IV. Simplicity

Find the correct combination :

(A) LII, I (B) ILIIL IV
(©) LILIv (D) LI, IV

Criteria of a standard test involve
L Reliability

II.  Complexity

III. Variability

IV. Norm
Find the correct combination.
(A) TandII (B) IandII

(C) IandIV

(D) IVandI

20.

The primary goal of intramural

competition is :

L. To provide opportunity for
mass participation of students.

II. To participate in Inter-school
competition.

1. To provide Intra-school
competition experience.

IV. To improve sports performance
for higher level of competition.

Find the correct combination.

(A) TandII (B) HIand IV

(C) TandII (D) I andIV

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : Self expression is
the aim of physical education
according to Naturalism.

Reason (R) : Naturalism believes
nothing beyond nature.

In the context of the two statements,

which one of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Internal respiration

means the exchange of gases in
cell through extracellular fluid.

Reason (R) : Pulmonary
circulation means systemic
circulation.

In the context of above statements,

which one of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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21.

22,

23.

Assertion (A) :Lowering centre of
Gravity of the body increases
degree of stability.

Reason (R) : Equilibrium has
indirect relation with height of
Centre of Gravity.

In the context of above statements,

which one of the following is correct ?

(A) (A)istrue and (R) is false.

(B) (A)is false and (R) is true.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are correct.

Assertion (A) : Hostile aggression
provokes one to harm others
physically.

Reason (R) : Aggression 1is an
intent to harm another person
mentally and / or physically.

In the context of above statements,

which one of the following is correct ?

(A) (A)is true, but (R) is false.

(B) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(C) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(D) (A) is false, but (R) is correct.

Assertion (A) : Before independence,
there was not a single physical
education college in India.

Reason (R) : Y.M.C.A. College of
Physical Education was started
in 1920 in Chennai.

In the context of above statements,

which one of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) s false but (R) is true.

24.

25.

26.

Assertion (A) : Person suffering from
smallpox should be isolated.

Reason (R) : Isolation is a measure
for prevention of infection.

In the context of above statements,

which one of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : For improvement of
performance in long distance
running, continuous training is

effective.

Reason (R) : Continuous method
of training improves basic
endurance.

In the context of above statements,
which one of the following statements
is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : ‘t’ test is used to
assess the significance of
difference between two means.

Reason (R) : ‘t’ test is a method
used for inferential statistics.

In the context of above statements,

which one of the following statements

is correct ?

(A) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are true and
(R) 1s the correct explanation of
(A).

(D) (A)is true and (R) is false.
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27.

28.

29.

Assertion (A) : Lean Body Mass is
the amount of body weight

excluding body fat.
Reason (R) :Body composition
involves  components  with

which human body is formed.

In the context of above statements,

which one of the following statements

is correct ?

(A) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is right.

Assertion (A) : Management
involves organizing,
administering and supervising
the work.

Reason (R) : Well began is half
done.

In the context of above statements,

which one of the following statements

is correct ?

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Arrange the following events in

chronological order :

L. Foundation of L.C.P.E.

II.  Starting of Y.M.C.A. College of
Physical Education, Chennai.

III. Starting of academic
department for  Physical

Education in Universities.
IV. Starting of M. Phil course in
Physical Education.
Codes :
(A) LILIv, 11  (B)
©) I LIV

L, IV, I, 11
(D) IV,ILILI

30.

31.

32.

33.

34.

Arrange the following body parts in
descending order :

I. Cell II.  Tissue

III.  Organ IV. System
Codes :

A LILuLiv. - ®B) IV, ILILI
(© uLiv,Lo () ILLIV,HI

Arrange the following phases of
take-off in proper sequence :

[.  Absorption

II.  Active stretching
II. Take-off

IV. Touch down
Codes :

(A) LILILIV (B)
(©) HuLIv,Lum (D)

IV, L 11, IIT
I, 111, TV, T

Arrange the following in correct
sequence for skill learning :

I.  Associative Phase

II.  Presentation stage

III. Automatization stage

IV. Cognitive stage

Codes :

A) LuaLiv,o @B) ILIV,LII
(©) OLLILIV (D) IV,ILIILI

Arrange the following sequence for
First Aid Management in sprain :

I.  Compression II. Ice
III. Rest IV. Elevation
Codes :

(A) ILTLIV,I (B)
(©) LIULILIV (D)

L 1L L, IV
INARIRII

Arrange the following phases of
periodization in correct sequence :
L. Preparatory phase

II.  Transition phase

III. Competition phase

IV. Pre-competition phase
Codes :

(A) LILIILIV

(B) LHLIV,II

(©) LIv, L

(D) IL LIV,
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27.

AMMHUT (A) : TERHE TRINE T
1 29 ¢ famr wifies o & IR
R T TET |

% (R) : INRE sE § 9
of "o qiwfad & & ga
IR & BT E |

SWIFT FoHT HB FH H @S g Gl

A T T B

(A) SHIT(A) 3R (R) Wl &, W (A)
(R) TET TEHRT el ¢ |

(B) =T (A) 3R (R) Wl €, 3ii¥ (A) &
(R) T TR ¢ |

(C) (A) T e R (R)Tod & |

(D) (A) TTod &, W= (R) W& € |

AMHIT (A) : A § TEeE,
WA 9O YA & H
qiHfea € |

% (R) g = M o
STYT <hlH JHT |

SR FHT B AH W @D gC el

IR T T HIT

(A) T (A) 3R (R) e &, 3T (A) F
(R) T&l TiehoT & |

(B) SHI(A) 3R (R) Wel &, T (A) T
(R) T&l TIeiehoT =Tl € |

(C) (A)TE e " (R) A& |

(D) (A)TTeoid &, W= (R) W&T € |

fr=fefad gerstt ® Hesraasd I6®

aqaﬁ?maﬁﬁqz

I UAHLGE S S

. dETHET  9RRE e
Hellaraer, TwTg i YE3Td

. fovafoeme@ & ik foen &
Sreatoren feramt ht SreRTd

V. YRIRk® frer & Ak s o
&

&<

(A) LILIV,IT (B) ILIV,LII

(©) ILLULIV (D) IV,ILILI

30.

31.

32.

33.

34.

FAffEad TR agel &l STaRiEr

% H HARd I

I IR . s
. 37 V. @&
YA

(A) LILILIV (B) IV,ILILI
(C) NLIV,LII (D) ILLIV,II
FEd THT U] 2H-3% & =reIrad
I g9 G

. diha Raae

M. 3% A%

V. ufir Tt

4

(A) LILIULIV (B) IV,LILII
(C) NLIV,LII (D) ILILIV,I

FTA e ¥ FETAtEd B W

T H FANRI HIfTT :
I g SEe
. TR 3fere

. T@EEe e

V. WIHCHA e

&<

(A) LIOLIV,II (B) ILIV,III
(©) ULLILIV (D) IV,ILILI

B S Uehe fafecn seen §

frefetiad sh STOT ST &

I oA II. &% &
I  3TRH &1 IV. 9 3A
%<

(A) ILOLIV,I (B) ILILLIV
(C) LULILIV (D) IV,LILII

frfefiad = el sh9 O Haied &
[ URMWTE =T

II.  ishi=<ae a7

[ o7 =_o

V. T =Ro7

E

(A) LIL I, IV

(B) LIILIV,II

(©) LIV, ILII

(D) IL LIV, III
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3s.

36.

37.

38.

Arrange the following phases of
research in correct sequence :

L. Analysis of data

II.  Drawing conclusions

III.  Testing hypothesis
IV. Collecting data
Codes :

A ILILLIV (B)
©) Iv,LiLm (D)

LIV, L 11
1L 1L, TV, T

Arrange the following test in
chronological order in respect of
their origination :

L. Physical fitness

II.  Motor fitness

III. Health Related fitness

IV. Motor Educability

Codes :

A LuaLiv,u B) ILIV, LI
© uLLiLiv () LILIOLIV

Arrange the following steps for
managing a sports program :

L. Budgeting  II.  Directing
III. Planning IV. Staffing
Codes :

A ILILLIV B) HOLLIV,I
© LiLuLIiv () IV, LI,

Match List — I with List — II and
select the correct answer from the
codes given below :

List—1 List — 11
a. Educational i. Ancient
Gymnastics Olympics
b. Turner ii. Rome
movement
c. Gladiatorial iii. Germany
combat
d. Staderace iv. Sweden
Codes :

a b c d
(A v di il i
(B) il v i i
< i i iv i
(D) 1 1 i iv

39.

40.

Match List — I with List — II and

select the correct answer from the

codes given below :
List—1

a. Aorta 1.

List — I1
Brings
oxygenated
blood to heart
from lungs

—_

b. Pulmonary 1. Supplies
vein oxygenated
blood to heart
muscles

— .

c. Vena-Cava iii. Brings de-
oxygenated
blood to lungs

iv. First artery to

leave heart
d. Coronary v. Brings de-
artery oxygenated
blood to heart
Codes :
a b v d

(A) i i i iv
B) i v iV
©) v i
D) v v

—_
= =

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — 11
a. Force of Gravity 1. Stability
b. Frictional force 1. Rebound

c. Buoyant force  iii. Free fall

. Elastic force
Codes :

a b c d

(A) 1 1 v il

B) 1 v i il

iv. Floating

© i i i v
(D) iv i i i
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3s.

Iy S H IRomE e &q Fefetad w
ShHeG Ehﬁ%’fq :

I 3ihel 1 fawetuon

. 7= Feprern

. YRehedAT T IRIeToT

V. 37hg Uh ]

&<

(A) ILIULLIV (B) LIV,IILII
(©) IV,LILOI (D) MLILIV,I

TR Jodih TRl &l HieTes,

% H HARd I ;
I IRINE aweA
. 7T 9med

M. ey e qmed

V. T e g

&<

(A) LIOLIV,II (B) ILIV,IILI
(C) NLLILIV (D) LILILIV

Teh T HEHH & AT =0T

el oA ey

I e o

I fee=

n.  fas=

V.  HHaREr st e
E

(A) ILTLLIV (B) ILLIV,I
(C) LILNLIV (D) IV,LILII

g — [ & gat — 11 9 A 70 Fe

o [a¥a
Helddl q HAleda eeli>ty

et - 1 = - 11
a. SiefTes i, urEe
ST AR
b. IR IAFHE  ii. WA
c. TAtEANaA iii, ST
I
d Vs iv. w@eq
E T

(A) iv i i i
B) i v i i
© i i iv il
D) i i i v

39, gt — 1 & get — 11 ¥ = U e $e @

40.

o [a¥a
Helddl '\q' JAledd <pli=y

| = — 11
a. 33T i. TAHEEHS A
IF T A E |
b. THERI AT {i. &Sd H HEURE
I YF T g
g
c. aAT-HET iii, SRS e
TR Sl B o
A E |
d. SR iv. TIH T
A AT TIH qHAT
V. &WWT%H
TR g3 B 3T
A E |

A) i i i v
B) i v i v
© iv i

D) iv v i i

<

g — [ & gat — 11 9 A 7 70 Fe

o [a¥a
Helddl q Al eeli>ty

Tt — 1 = — 11
a. T ool i. g
b. YOI A ii. e
c. 3BT TA iii. famy e
d. °Tdgeh &t iv. %

Fe:
(A) @i i iv i
B) i iv i i
€ i i

(D) iv i i i

o
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41.

42,

43.

Match List — I with

List — II and

select the correct answer from the

codes given below :
List — 1
a. Motivational 1.

theory
b. Play theory ii.
c. Learning 1.
theory
d. Personality  iv.
theory
Codes :
a b c

(A) v i il
(B) i iv il
© 1 o1 i
(D) i i iv
Match List — I with

List — 11
Psycho-
analytic
theory
Attribution
theory
Social
learning
theory
Operant
theory

1ii
List — II and

select the correct answer from the

codes given below :

List -1
a. B.M.L 1.
b. Body il.
composition
c. Explosive iil.
strength
d. Pondoral iv.
Index
Codes :
a b v

A) i1 iv il
(B) iv i ii
© 1 o1 i
(D) i i iv
Match List — I with

List — 11
Leanness
Performance

related fitness

Health related
fitness
Obesity

1ii
List — II and

select the correct answer from the

codes given below :
List -1
Penalty corner 1.
Penalty spot ii.
Libero iii.
. Stop Board iv.
Codes :

a b c
(A) i il v
B i i il
© iv i i
D) i v i

a0 o

List — 11
Volleyball
Track & Field
Hockey
Football

44.

45.

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — 11
a. F-test 1. Co-efficient of
correlation
b. Measuring ii. Standard
central Deviation
tendency
c. Testof 1i. ANOVA
correlation
d. Measuring iv. Median
variability
Codes :
a b C d
(A) 1 i i iv
(B) iii v i ii

© iv i i i
D) i i iv i

Match List — I with List — II and
select the correct answer from the
codes given below :

List—1 List — 11
a. Miller Volley 1. Team
test cohesion
b. PACER ii. Badminton
c. SCAT
d.  Group iii.  Cardio-
Environment respiratory
Questionnaire endurance
1v. Anxiety
Codes :

(A) i i v i

B) i v i i

© iv i i i
D) i i i v
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41.

T — [ B gt — [ ¥ e 5T U e &

o [a¥a
Helddl '\q' HAledd <pli=y

=t - 1 = - 11

a. Wonfagea i TR
s

b. T s ii. TRy
s

c. Iy fagTa i, Q™IS
Aty fagra

d. fasra iv. Gl fagra

T

a b c d
(A) v ai il i
(B) i v 1l 1
(C) i it 1 v
(D) i 1 v il

gt — 1 & gt — 11 § = e e g #t
Tt — 1 = — 11

a. o.UH.3TE. i.  SEREE

b. VRIRE @EAT il TS TRl
TEAT

c. famreFETA i, ETRT TER
TEAT

d. FeReT e iv. Ter

HE

(=N

a b c d
A 1 v 1l 1
B) v i il i
(C) i it 1 v
(D) i 1 v il

gt — 1 & gt — 11 § = e e $e
Tt — 1 = — 11

a. U ®FT i, drelEre

b. TR WE  ii. ¢ US Wi

c. foart iii. Bl

d. €U iv. Feaiet

A

(=N

a b c d
(A 1 i iv 1
(B) i n i iv
©) iv 1 i il
(D) il v i i

44.

45.

T — 1 g - 11§ e KT e e 5t

o [a¥a
Helddl '\q' JAledd <pli=y

T -1

= — 11

a. UH i  H-UERTE
T SIS
b. FI UG H i, HEH foEe
e
c. HegErY iii. 3T
TLreToT

d. WER fafy=ar iv. AeEeh
CaRsIvE

E T

(A) i il i v
B) i v i i
© iv i i i
D) i i iv i

g — [ & gat — 11 9 A 3 70 Fe

o [a¥a
Helddl '\q' JAledd <pli>y

T -1

= — 11

a. MERAM S . I\ PR
b. THI i, Sef=a
c. @ iii. AT e
ESEENIGEI
d. I0 TTEaREHT iy, 3T
PEEICISIl
E

(A) i i v i
B) i v i i
© iv i i i
D) i i i v
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46. Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — 11
a. Three seconds i. Football
rule
. Throw-in ii. Hockey
c. Straight push 1iii. Basketball
d. Service iv. Badminton
v. Baseball
Codes :
a b c d
(A i n i v
B) i 1 v il
(C) it i i iv

M i i v v

Read the following passage and answer the
question given below.

Burnout is becoming increasingly
prevalent among teachers and coaches.
Burnout can be defined as physical,
emotional and attitudinal exhaustion. There
are many causes of teacher burnout. Lack
of administrative support, lack of input into
the curriculum process, public criticism
and the accompanying lack of community
support are all factors contributing to
burnout. Inadequate salaries, discipline
problems too little time to do the ever-
growing amount of work, large class sizes,
and heavier teaching loads may also
contribute to this problem. The lack of
challenge, inadequate supervisory feedback
and the absence of opportunities for
personal and professional growth may also
lead to burnout.

In the coaching realm burnout may
be caused by competitive seasons that
seem to go on without end, administrative
and community pressures and time
pressures. Teacher-coach role conflict
occurs when a disparity exists between the
expectations associated with being a
teacher and a coach, this results in a
multitude of simultaneous, somewhat
diverse demands. The teacher-coach unable
to satisfy these demands, experiences role
conflict.

In both the teaching and coaching
realms, personal problems may interact
with professional problems to exacerbate
burnout. Personal problems such as
conflicts within one’s family, money
difficulties, or perhaps problems with
relationships may cause additional stress
for the individual. These stresses coupled
with professional problems may hasten the
onset of burnout.

The consequences of burnout are
many and are often quite severe, affecting
teachers as well as their students. The most
critical impact of burnout may be on
instruction. Burned out teachers may cope
with the demands of teaching by sitting on
the sidelines.

47. Which of the following is the
prevalent cause of ‘Teacher-burn out’ ?
(A) Lack of financial support
(B) Lack of administrative support
(C) Lack of political support
(D) Lack of family support

48. Which of the following is the most
important cause of ‘Coach-burn out’ ?
(A) Administrative and community
pressure
(B) Parents pressure
(C) Participant’s pressure
(D) Higher authority’s pressure

49. Which role conflict leads to the burn
out of a teacher-coach ?
(A) Demands of the participants
(B) Demands of administration
(C) Demands of the parents
(D) Expectations of being a
teacher-coach

50. Which of the following is the most
dominant factor that leads to burn-
out in teaching and coaching ?

(A) Political problems

(B) Social problems

(C) Personal problems

(D) Administrative problems
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46. A — 1% gl — 1 § 9 T 70 Fe H

o [a¥a
Helddl '\q' HAledd <pli=y

gt -1 -1
a. i 9s = | Fediel
b. @5 ii. e
c. WU iii. STEheaTeT
d. gfawm iv. Seff=T
v. S

A i i i v
B) i i iv i
© i i i v
M i i v v

Frefafead o=t & ufgd 3R U U weei o
waﬁ%nz:

ToTeTehT e Uf¥TeTeR | WATT (S 3TSe) H
U SR Sl ST @1 & | GaTT sl IR,
AT d gy .9war & &7 o
gRenfee T ST Wehar & | TeTeRt o Saraud
B % 3 BRI € | URTEToh T ol 3T,
IeF=AT-FHTT S AR B AT o % TR
3G, S-S T2 TS R 90T &
3E G § TR i dlel Hleh & | 39T
H W FA & o0 T HA G99, F=eT |
Torenterat =0 Srgl Wem qur e s # aRl
T TH GEET H I H IR Hd &
=il 1 e, SuEE RIS gt
T AT Te AT G o FTT i
FHH G 3= HA € |

AL U & dTell Miqemeices gLienatt
1 1Ay, TS T AR & T qH
T IETE URTRTOT o &1 H HAT S~ B & |
ToTeTen-nTeTeTe st JfHeht & srgr Tod off Fard
S IAT § | T @M qen Uit gie
UeTS % AT HiSIS FTHar o HROT qHH T8
GO ufed &A1 € | g8 IS GHhIeih, fohta
Afaeyel, eTaeme ¥ URrd gar € | S foneen-
TTSTeT S STUSTIST bl IR A | SRIH BT &
TE T hi TRt BT SFHT HA E |

SR T qT AT et
ot IR TR, fRTeToT e UeTeToT T & o
HATT I T S € | 30 URAR o ST G,
g I HHT, AT THA: GaTadT & T TS S
T THEE Afdd & [T Afaied a91a &
HROT 9 Fehdl & | AEANTSH GHERT o T
S[E T A T AT o SHA hl b 5T It
g

AT & TS 3 B © AT g 3
T XA & | AT BT FeATes Gehequl wTe
foreror w& W oued & | Hawed  fenete
TYTeTOTOR R 3TUETT3TT BT AT B WX WWhY hid
g
47. Toemh-gag & HEfdiad § | 9 91

It SHROT § 9

(A) Toxi gues 1 3mma

(B) URTAME TR T 31TE

(C)  TSTITeTer THe T 3Tl

(D) UIRETRe THT T T

48. TITET A H ETARad § § i 4T
AT FewaguT HRIT & ?
(A) TR T AR o
(B)  ANTTER o e
(C) it & g
(D) STAYHINET I gaTE

49. ToETH-ITETS T YiHHT & T H B
T e GATT 3ca~ Ll € 2
(A) it s e
(B) ferenférat =t smemt
(C) arfwrareni =i ued
(D) UH s dur Ul e 9
31U
50. fereror e wiRTeTUT I & A g
3T LA ITeT Fellfeh Yool heh i
qE?
(A) TSHITae THET
(B) QST HHETT
(C) =R o
(D) VRTE® T
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